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mll=5;
mlz2=0;
m21=0;
m22=3;

cl1=0.5;
cl2=-0.1;
c2l=-0.1;
c22=0.2;

k11=300;
kl12=-50;
k21=-507;
k22=200;

F10=10;
F20=0:

M=[mll ml2;m21 m22];
C=[cll cl2;c2l1 c22];
K=[k1l1l kl12;k21 k22]:
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:MATLAB ;5 g5 4oli s
r=0;
for w=0:.001:20

r=r+l;

Z=-M*w 2+1i*w*C+K;

H=inv(2Z):

X1l(r)=H(1,1)*F10+H(1,2)*F20;
X2 (r)=H(2,1)*F10+H(2,2)*F20;
Hll(r)=H(1,1);
H12(r)=H(1,2)’
H22 (r)=H(2,2):

end

i=0:.001:20;

figure (1)
plot(i,X1,'-','linewidth',2)
figure(2)

hold on

plot(i,X2,'-', 'linewidth',2)

$plot(i,Hl1ll) % or H12 H22
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